+8 123 2d (1H-10H) (AOHAZ =X MM www.cyberschool.co.kr )

£11)

3
log,6 —log, 5 o &t

10
N

(E)oteh UAF [18HH E0| SHH ]

£12)

2

8% +log,8 2 227

(B ot AT [28 E0| SHY ]

£ 3)

N |-

3

log2(4’ . \/2_) =]

(E)oted g [3H 20| SHY ]

=
10
N

274)
log; 12 +1log; 9 —log; 4 2| 88 &7

(BN ofah o8& [4% Zo| Sy

2£75)


http://www.cyberschool.co.kr/
https://youtu.be/XfojvoK9Dks
https://youtu.be/fr5ePzJvGNU
https://youtu.be/Xxo0zZXGZxU
https://youtu.be/yP6DmdkuHG8

1

(log,27) < 8% 2 gt27?

HA

(5) ol UB [5% B0l SHA]

27 6)
z? Yy
a,x,ylt 22l a==0l1) A=log, — ., B=log, =
3A+2B2 &2 2427

(S, a=1)

(5) ol & [6% Zo| R4 ]

£17)

120 2 Ml &= a,b,c0ll CHolOd

2 [H, log,b+log,a tE7?

(5 ofah UZ [ 7% B0l SH4 ]

= &= a, b0l CHol

ab =27
{ b
10g3 — 5
l

4logy a+9log; b2l at

=
BA =

(&) ofeH A= [8

[T

Z 0| =0dAt

£19)

log,c :log,c=2

- StAI L.

o1


https://youtu.be/7ul8NBolF9A
https://youtu.be/22YlSaj_ats
https://youtu.be/0VPQvwABbWc
https://youtu.be/B7e-fZfbDhA

[2I1]0A 82 2SS 25 N2 AH27?
[2D1]

- 2lr)g._. 1+log, 2+logy 3 +--- +log, 10 —=10!

. log, (2' x 2% x 2% x ... x 210)2 =552
=. (log,2')(log,2?)(log,2?) --- (log,2') =55

(§f) ofeh U=

£110)

(&) o2l RU&

(&)
1)
2)
3)
4)
5)
6)
7)
8)
9)
10)

AWNNN

5/2

20

H
el

9

g_o = 04 A}

1<a<bl & &

== a, b0l Chol{

T =
3a _ b _ 3a+b
log, b 2log, a 3
Jb €€ [, 10log, b2l 8= —olAIL.

| 10 II:I_-| a‘._-'-—ol = O4 Al |

-5logay



https://youtu.be/p9Ywu3Qe4s8
https://youtu.be/Z4qI5RmAPzw

